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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)

(v)
(vi)
(vit)
(viii)
(ix)

67/1/1

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given

options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.

Questions no. 21, 22 and 33 carry 4 marks each.

Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks

and 2 questions of six marks.

(1)

(ii)

PART A

(Accounting for Partnership Firms and Companies)

Hina and Neena are partners in a firm. Neena withdrew ¥ 10,000
per month at the beginning of each month during the year ended
315t March, 2022. Interest on drawings was to be charged @ 6% per
annum.

htereSu VAL ANGCIDLICL O WiLLAYY ulsa AL AL JGﬂ.L LALLLC UL UJ..St MarCh, 2022
will be :

(a) ¥ 3,900 (b) T 325
e ¥ 3,600 @ ¥ 3,300
OR

Vibha and Asha are partners in a firm. Asha withdrew ¥ 1,000 at
the end of each quarter during the year ended 315t March, 2022.
Interest on drawings will be calculated for an average period of :

(@) 6 months (b) 4% months
1 1
(¢) 7 5 months (d) 65 months
—~ Page 3 P.T.O.
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() 8,000 (@ 11,000

Rl #1e9i4% [ &1 9igy 7ot 569 & 75 go+1 & TR W 397 qeqr 4 a97
5 & I 9 :
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e, wiaar oo 7yt v # greigr off qur IR ISt seAw: T 6,00,000,
T 4,00,000 T T 2,00,000 off | ISt W 10% aTMHh T T A ¢ & TR
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W%l‘cﬂ% W,Hﬁm%qug%ﬂmlm&mﬁoqﬁhudwﬁwa
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2. Aman and Chaman are partners in a firm. On 1St July, 2021 Aman
advanced a loan of ¥ 6,00,000 to the firm. There is no partnership deed.
On 315 March, 2022, Aman was entitled to get the following amount as

interest on loan : 1
(a) T 36,000 (b) T 18,000
(c) < 9,000 (d) T 27,000

3. i) Akshita Ltd. issued fully paid shares of ¥ 5,00,000 in purchase
consideration of net assets of T 4,70,000. The balance of ¥ 30,000
will be to account. 1

(a)  debited, Goodwill
(b)  debited, Capital Reserve
(c) credited, Capital Reserve

(d) credited, General Reserve

OR
(i1) Maira Ltd. took over assets of ¥ 12,00,000 and liabilities of
T 4,00,000 of Subav Ltd. for an agreed purchase consideration of
< 9,00,000. The amount was payable by issue of 11% debentures of
T 100 each at 10% discount. The number of debentures issued will

be : 1
(a) 9,000 (b) 10,000
(c) 8,000 (d) 11,000

Read the following hypothetical situation and answer questions number

4 and 5 on the basis of the given information :
Kavita, Savita and Madhu were partners in a firm with capitals of
< 6,00,000, ¥ 4,00,000 and < 2,00,000 respectively. After providing
interest on capital @ 10% p.a., the profits are divisible as follows :
Kavita %, Savita % and Madhu % Kavita personally guaranteed that
Savita’s share of profit after charging interest on capital would not be
less than ¥ 1,00,000 in any year.
The profit for the year ending 315* March, 2022 amounted to ¥ 3,00,000
before providing interest on capital.
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afear =1 ATH ® W M Y TR R 91
(a) ¥ 40,000 (b) T 70,000
¢ T 20,000 (d ¥ 10,000

BH o gl o1l Skl TRET =T URT T FHEISH B & I941q I9igRI § fawried
IERIRS I

(a)
(b)
(c)
(d)

(1)

(i1)

(1)

(i1)

il T 60,000, Tfadr T 40,000 T9T HY T 20,000
fgar T 50,000, Ffaar T 1,00,000 T 7Y T 30,000
Hiadl T 60,000, Fiadr T 90,000 T¥T 7Y T 30,000
SHiaal T 60,000, Giaar T 1,00,000 74T 7Y T 20,000

Teh HFHT 4 T 10 I o 400 3130 1, 9 W T 8 ufd 3w anfaa

foram o, T 2 79 HE W SO
H TR | 39 o & WU W SFw St @i 7F | @A
GlTE"ﬁ:

(a) ¥ 4,000 (b) =800

(¢ % 3,200 @ = 2,000

T

JEE] T 10 9% & 700 M &1 e 10% WfEEw w®
fnifee . T 5 e Uiy qo
T 3fi I T T
o/ | 39 o791 o T W A & @I fift b1 ST
(a) ¥ 7,000 (b) = 1,400

(c) % 4,900 @ =2,100

Afea fafiRe ¥ T 100 T&F + 2,000, 9% OOt &1 fpfmg F 95 fd
RO TR TR | 9% oqs @ra & ST 9 § T Y S

(a) ¥1,90,000 (b) ¥ 1,10,000
(c) T 2,00,000 (d) ¥ 10,000
AT

faefeaa o @ ®W-91 F srmer B2

(a) RUMYS 9 SIS Ueh YR g, faf=em &t |

(b) ROl ol Sz W i foman < wepar |
(¢)  SRUTIAYTIE! bl dIC & h IT(YhR 8 & |

(d) RO 1 I qiafda 987 Fwam 1 gear |
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4. Savita’s share of profit is short of the guaranteed amount by : 1
(a) < 40,000 (b) ¥ 70,000
(c) T 20,000 (d) < 10,000

5. The total profits of the firm after adjustment of guaranteed amount will
be distributed between the partners as : 1

(a) Kavita T 60,000, Savita T 40,000 and Madhu ¥ 20,000
(b) Kavita ¥ 50,000, Savita T 1,00,000 and Madhu ¥ 30,000
(c) Kavita ¥ 60,000, Savita T 90,000 and Madhu ¥ 30,000
(d) Kavita T 60,000, Savita ¥ 1,00,000 and Madhu ¥ 20,000

6. ) A company forfeited 400 shares of ¥ 10 each, ¥ 8 per share called
up for non-payment of first call of ¥ 2 per share. On forfeiture of

these s with : 1
(a) ¥ 4,000 (b) T 800
(c) T 3,200 (d) < 2,000

OR

(ii)  Xyle Ltd. forfeited 700 shares of ¥ 10 each issued at a premium of
10% for non-payment of allotment money of I 5 per share
(including premium) and first and final call of ¥ 3 per share. On

forfeitt count’ will be
credited with : 1
(a) < 7,000 (b) < 1,400
(c) T 4,900 (d < 2,100
7. 1) Rohit Limited issued 2,000, 9% Debentures of ¥ 100 each at T 95
per debenture. 9% Debentures account will be credited by : 1
(a) ¥ 1,90,000 (b) ¥ 1,10,000
(c) < 2,00,000 (d < 10,000
OR
(ii))  Which of the following statements is incorrect ? 1

(a)  Interest on debentures is a charge and not an appropriation.
(b)  Debentures can be issued at discount.
(c) Debentureholders do not have voting rights.

(d) Debentures cannot be converted into shares.
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8. A, YR qUT AT HIEER & q7 3:2:1 % AU § @HI A1 faHoH
FA A | 1 oIS, 2022 B IACEN EH Y WAEEGT § T | AT
Qartigfe 1 fafa o feafq foeror amw-a @ & 9™ 98 F T 1,20,000 1
N < @ A1 | Al R Uiy Y OET A g9 39 AW T ST
WTGTQTIT:

(a) T AT AER & YSit WAl & A 95 § GO A-fawrsa aigua 7 |
(b) S, YR qT AT & Gt WAl & a8 9§ H @ arv-faves

I H |
(c) T T YR % Yl @rdt o |1 98 ¥ -T¢ ATH-TaWeH gaa J |
(d) W e - GO T T wguaH |
9. fify, @ awn 2:1:2 [T § I Bl

faws i € | P dartga @ T qen E=e § T qarEISH,
gigwfat & ook ST QFArsTi o YAl o gvErq 3eh Yol Wid

A9 T 80,000 o1 | T oK heflt 35 q@ & . ¥ 1,00,000 1
TAH HH T T | 361
HIT T :

(a) T 4,000 (b) T 20,000

() T 16,000 @ ¥ 1,80,000

10.  S7frFeT(A): THIa T g TG 7 |

#ror (R) - Tfa wfesy § smferd wnumer et & 3rfafs wrdt el &
=y § T B I yfassi i g B |

fafafaa 7 9 ¥t fasrew =1 =@ Fifve
(a)  SANTHA (A) TG 8, Tg SO (R) Tod ® |

(b)  3THT (A) TTAd 8, T HROT (R) T 7 |
(c) AN (A) qAT I (R) ST T&t & |
(d)  ITfeReE (A) T HR (R) 1 Toid & |
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67/1/1

Aman, Aadhar and Avinash were partners and sharing profits in the
ratio of 3 : 2 : 1. Avinash retired from the firm on 15t July, 2022. On the
date of Avinash’s retirement, the Balance Sheet showed a debit balance
of ¥ 1,20,000 in the Profit and Loss Account. For calculating the amount
payable to Avinash, this balance will be transferred :

(a)  To the debit side of the capital accounts of Aman and Aadhar in old
profit sharing ratio.

(b) To the debit side of the capital accounts of Aman, Aadhar and
Avinash in old profit sharing ratio.

(c) To the credit side of the capital accounts of Aman and Aadhar in
new profit sharing ratio.

(d)  To the credit side of the capital accounts of Aman and Aadhar in
their gaining ratio.

Nidhi, Kunal and Kabir are partners in a firm sharing profits in the ratio
of 2 : 1 : 2. Kunal retired and the balance in his capital account after
making necessary adjustments on account of reserves, revaluation of
assets and reassessment of liabilities was ¥ 80,000. Nidhi and Kabir

agreed to pay him ¥ claim. Kunal’s
share of goodwill of the firm, on his retirement was :

(a) T 4,000 (b) T 20,000

(c) T 16,000 (d ¥ 1,80,000

Assertion (A) : Goodwill is a intangible asset.

Reason (R):  Goodwill is the value of the reputation of a firm in respect
of profits expected in future, over and above the normal
profits.

Select the correct answer from the following :

(a)  Assertion (A) is correct, but Reason (R) is wrong.
(b)  Assertion (A) is wrong, but Reason (R) is correct.
(¢)  Both Assertion (A) and Reason (R) are correct.
(d) Both Assertion (A) and Reason (R) are wrong.

—~ Page 9 P.T.O.
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13.

14.
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‘F q1 @ TH BH T HIEeR 3 a1 7 : 1% I H AHR 1 fausE
I | A TS fmEl & IR 7 T 12,000 I ww Ffvwd afyt w1 s
fRRIT | STTEW0T W 6% alfbeh o | TSl WG fohaT SIaT 8 | ¥ & 37d | S8

R AT THRA A T Usmean afafse gt
(a) TR0 T &N @il 94 Z 1,800
‘% T Yol @rdT T 1,800
(b) I W AN @il | Z 1,800
‘o’ T 1oL @ ¥ 1,800
(c) & o1 SN WAl I T 1,800
JTELOT TS @il ¥ 1,800
@ awaEt Tt Z 1,800
FTE0 T SIS @il Z 1,800
arferpa 4ot & e frif femm
ST &, hEdATdl &
(a)  Afored goht
(b) it <Gf
(c)  3Mersha gsit
d) = g
Fh fafRe 3 100 5% 1 T 379, @ 20% Fratfer femam T
o, T 309f 10 rEAT T YA

TR T, b 1014l | rgeaH ded (oiF T SE IR I QAT TR S
T 3 :

(a) T 40 (b) T 60
(c) T 20 (d ¥ 100

AR T AT Th BH A WIPER E awr 21 1 % Igua A Al e
Hd | AFa B A A % T % fow wd o wawr femr T | IiEd A SAwH

WW% 9T SAferaT & e % T ST & T | Afeqar, STgam aen ted

T T AY-fIATSH 3TUTT g1

(a) 3:2:4 (b) 4:3:2

(¢ 2:1:1 (d 4:2:3
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11. ‘A’ and ‘B’ were partners in a firm sharing profits and losses in the ratio
of 7 : 1. ‘A’ withdrew a fixed amount of ¥ 12,000 at the beginning of each

quarter. Interest on drawings is charged @ 6% p.a. The journal entry for

charging interest on drawings at the end of the year will be : 1
(a) Interest on drawings A/c Dr. < 1,800
To A’s Capital A/c T 1,800
(b)  Interest on drawings A/c Dr. < 1,800
To A’s Current A/c g 1,800
(¢)  A’s Capital A/c Dr. < 1,800
To Interest on drawings A/c < 1,800
(d)  Profit and Loss Appropriation A/c Dr. ¥ 1,800
To Interest on drawings A/c < 1,800

12. That part of the authorised capital which is actually issued to the public
for subscription is called : 1

(a)  Subscribed capital
(b)  Issued capital

(c) Authorised capital
(d)  Reserve capital

13. Zinki Limited forfeited a share of ¥ 100 issued at a premium of 20% for
non-payment of first call of ¥ 30 per share and final call of ¥ 10 per

share. The minimum price at which this share can be reissued is : 1
(a) <40 (b) T 60
(c) T 20 (d ¥ 100

14. Akshita and Anurag are partners in a firm sharing profits in the ratio of

2 : 1. Akshat is admitted in the firm with % share in profits. Akshat

acquires % of his share from Akshita and % of his share from Anurag.

The new profit sharing ratio of Akshita, Anurag and Akshat will be : 1
(a) 3:2:4 (b) 4:3:2
(c) 2:1:1 (d 4:2:3

67/1/1 ~ N~~~ Page 11 P.T.O.
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15.

16.
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o & faue & any Frfafea & 9 5 ageh @ o seawaia faen s 2

1)
(ii)
(ii1)
(iv)
(a)
(b)
(c)
(d)

(1)

(i1)

gfery ol % forg yaa™
HISIGRI T 0l

HHT <y

I

(i) 3 (iv)

(i), (ii) AT (iv)

(i), (iii) 9T (iv)

(1), (ii) qAT (iii)

a1, Y T 4:3:1 T | AT 1
faumem &t 9 | 1 AR, 2022 | §f < geg 6
fofer = T 80,000 I Tg | dt & AW & WNT
S :

(a) - T 40,000 I AT T |

(b) - F 40,000 <hl TAHT b |
(¢) <mv-gH = fe T 80,000 I ! Hh |

(d) AT ST e = 1m0 T 40,000 1 GAr! Hb |

AAAT

oo, At qor HAfar wh e 6 AEER 9 991 3:2:1 ¥ 9 d
AT 1 TI9TeH d o | IS HaT-gd &l 715 TR 3dehT WIT T qen
AT g sRre-aeR o e | fiar dun SAfHdr i @ A fawsE

AT BT :

(a) 2:1
(b) 7:5
() 1:1
d 3:2
~~~~ Page 12
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15. Which of the following will be transferred to Realisation Account at the

time of dissolution of firm ?

(1) Provision for Doubtful Debts

(ii))  Partners’ Loan

(iii)  General Reserve

(iv)  Goodwill

(@) (D) and (iv)

(b) (@), (i1) and (iv)

(c) (1), (ii1) and (iv)

(d) (@), (i) and (ii1)

16. (i) P, Q and R were partners in a firm sharing profits and losses in
the ratio of 4 : 3 : 1. P died on 15 September, 2022. On the date of
P’s dea s of the firm were calculated as ¥ 80,000. P’s
share of profit will be adjusted by : 1
(a)  Debiting Profit and Loss Account with ¥ 40,000.
(b)  Debiting Profit and Loss Appropriation Account by ¥ 40,000.
(c) Debiting Profit and Loss Suspense Account with ¥ 80,000.
(d)  Debiting Profit and Loss Suspense Account with ¥ 40,000.
OR

(ii))  Pooja, Nita and Anita were partners in a firm sharing profits and
losses in the ratio of 3 : 2 : 1. Pooja retired and her share is taken
up by Nita and Anita equally. The new profit sharing ratio of Nita
and Anita will be : 1
(a) 2:1
(b) 7:5
(c) 1:1
d 3:2

67/1/1 ~ N~ Page 13 P.T.O.
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17.

18.

19.

20.

67/1/1

g, o oo folig & % 4 argier 9 aen 5 3: 2 F I § AN A
fomom 3 | 1 31, 2022 S GAT AT &1 78 | THeaieR, wafa au
wfua @l onfe wraret wft TRieAl S A F 9= few qun g % ¢
@t ¥ ®A: T 3,60,000 961 T 1,40,000 T ST AT AT |

a7 frofa foan e 6 faas @@ fomie S 4t 0t sk @ enm-fawem erquma @
gaRIfE fhar ST | oTewEe URMT oM sten sefd e Skl sTavEe
Qo yfafsedt hIfvu | 3199 sl sl Tose &9 9 ey |

379, W3, T 91 g U BH T HISIGR & 1 2:1:2: 1% Y § A
1 fouTeH a9 | 3B 1 od, 2022 W AM-ETH h 4:2:3: 1% JIUE H

e s 5 — 5= S " — %3 T 1,20,000

Teram TR e v 36,000 331 T&T T |

IUAH T T FIT | oo & T Tase &Y

€ ISy |

(%) wwe f T 9 T 10 7&@F % 1,00,000 M H 10% FEEA |
At | Tequl R 3feeT W e off |

3,00,000 3 % U HEeT IH gC qo1 Sig 4 FoiE forn foe awfl
STYTIT I AT ATIR T 37 T ATeH L T I1T |
v f i i EreCREEIL )|
yfafseat i |

AT

(@) wred fafits I @nft fafite 6t T 60,00,000 I afEmfE do
T 10,00,000 1 AT T 45,00,000 % hd Yed R - H TgAld @ |
TRT &1 aE T 100 T=&F * 10% oA 1 25% Hiftem w Frife

ek TopdT ST 9T |

WA fafiee &1 gest § I9d® SRl & fog sravEs Usemen
gfafeeat i |
(%) 1319, 2022 Y T W 1 HH Ol T 1,50,000 7 | RIS

ISl W Y™ A @ 10% @ | B % aited @ T 23,500 7 |
SferemHt & i a9t & s & IMMYR W FH Y Tiid Y 7oET hifs |

AYAT
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17. Suman, Vivek and Vinod were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. Suman retired on 15t April, 2022. After
making all adjustments relating to revaluation, goodwill and
accumulated profits, etc., the capital accounts of Vivek and Vinod showed
credit balances of ¥ 3,60,000 and ¥ 1,40,000 respectively.
It was decided to adjust the capitals of Vivek and Vinod in their new
profit sharing ratio. Pass necessary journal entries for bringing in or
withdrawal of the necessary amounts. Show your working clearly. 3

18. Anu, Manu, Tanu and Kanu were partners in a firm sharing profits and
losses in the ratio of 2 : 1 : 2 : 1. They decided to share profits and losses
in the ratio of 4 : 2 : 3 : 1 with effect from 15 April, 2022. On this date,
goodwill of the firm was valued at ¥ 1,20,000 and General Reserve
appeared in the books at ¥ 36,000.
Pass necessary journal entries for the above transactions. Show your
workings clearly. 3

19. (a) Annex Ltd. issued 1,00,000 shares of ¥ 10 each at a premium of
10% to the public for subscription. The whole amount was payable
on application. Applications were received for 3,00,000 shares and
the board decided to allot shares to all shareholders on pro-rata
basis.

Pass necessary journal entries for the above transactions in the
books of Annex Ltd. 3

OR
(b)  Shovan Limited took over the assets of ¥ 60,00,000 and liabilities
of ¥ 10,00,000 from Swami Limited for an agreed purchase
consideration of ¥ 45,00,000. The amount was payable by issuing
10% debentures of ¥ 100 each at 25% premium.

Pass necessary journal entries for the above transactions in the
books of Shovan Limited. 3

20. (a) On 15t April, 2022, the capital of the firm of Ashu and Madhav is
T 1,50,000. The normal rate of return on capital employed is 10%.

Average profits of the firm are ¥ 23,500. Calculate goodwill of the
firm based on three years purchase of super profits. 3

OR
67/1/1 ~~~ Page 15 P.T.O.
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(@) tfgd qem Hicih Th B U HIHGR & G°T 4: 1 & g T AN &
faursH ot & | 1 31, 2021 1 IRl YSHT HAM: T 1,20,000 A
T 80,000 off | 1 femrer, 2021 @l g fula fern &6 v 61 a1 Gl
T 3,00,000 BFft rEes foiw 3% grr 2:1 % Agu@ ¥ AeE feam
ST@ |
TTSERT ol o TN, TSR hl 6% TN &t § Yol W AN &
ST@ |
31 9TE, 2022 %! THH BH 910l 99 8§ dofl W Ry S0 9t =1 1 orn
T |

ey fafigg & »f== &H = 30 00,000 2 ST T 10 ™= & GHaT W T

fowfsa & | 7T 370,000 7 Imfa feu |
69,000 373N qAT had 3,000
FMWT 29 gt Tfdr e =@
TS | 3 3TN T BT T o T |

(%) T , 2013 T AT III, 91T 1 % ITIHR o o feafa

faaor ¥ ofw ISt Y ez |
(@) ¥t fotw @mai & Jed ot dIR i |

gefiT, ek a9 2:2:1 1 ¥ ATHETH 0
e s 9 131, 2022 1 3T feafd faawor i ywr @ o

31 WT™, 2022 i LR, Eides a1 Tai o1 feurta foemo

. i . ]
Tgad - Piteseasiop] -
R 50,000 | 4fy @ W 2,10,000
oy 99 1,00,000 | mfid 1,90,000
EQul 1,20,000 | ¥ 30,000
g IEER 1,70,000

g4 1,60,000 ERIECEECIRECIR] 1,20,000
[HEED 1,50,000
ECIE| 1,40,000 | 450,000
7,20,000 7,20,000
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(b)  Rakshit and Malik are partners in a firm sharing profits and losses
1. On 1St April, 2021, their capitals were
¥ 1,20,000 and ¥ 80,000 respectively. On 15t December, 2021, they
decided that the total capital of the firm should be ¥ 3,00,000 to be
contributed by them in the ratio of 2 : 1.

in the ratio of 4 :

According to the partnership deed, interest on capital is allowed to
the partners @ 6% p.a.

Calculate interest on capital to be allowed for the year ending
315t March, 2022. 3

21. Sandesh Ltd. has an authorised capital of ¥ 30,00,000 divided into equity
shares of ¥ 10 each. The company invited applications for issuing 70,000
shares. Applications for 69,000 shares were received. All calls were made
and duly received except the first and final call of ¥ 2 per share on 3,000
shares. These shares were forfeited.

(a)  Presen
per Schedule III, Part I of the Companies Act, 2013.

(b)  Also pr s 4

he company as

22,  Sudhir, Deepak and Naveen were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. On 315t March, 2022 their Balance Sheet

was as under :

Balance Sheet of Sudhir, Deepak and Naveen as at 315t March, 2022

Previous Pathshala

Liabilities Amount | sets Amount
Creditors 50,000 [ Land and Building 2,10,000
General Reserve 1,00,000 | Machinery 1,90,000
Loan 1,20,000 | Stock 30,000
Capitals : Investments 1,70,000
Sudhir 1,60,000 Advertisement Suspense A/c | 1,20,000
Deepak 1,50,000
Naveen 1,40,000 | 4,50,000
7,20,000 7,20,000
67/1/1 -~~~ Page 17 P.T.O.
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30 9, 2022 H AL H o & T | WHGR Sl o W e do@ 7

bl JTdYTd AT :
(i)  H I TR I oA TS IR a¥i o 3{d @, St T 1,80,000
%,%2% YT o ShY o STYR T Teram Sam |

(i) T ot fafer a6 @ sreran wifa & gER & Wt i TR foR % amaR
W H FTEH | 31 HE, 2022 I GAH B9 arel 99 § fasea h iy
T 4,00,000 oft qAT 1 A, 2022 T 30 ST 2022 T TosRA H TET
T 1,50,000 off | 31 HE, 2022 I FHIH §C a9 & ¥ T 1,00,000
o |

(iii) YN W 7% 91 G | S g S |

gt & frsaeent sl Giga o fore et YSit @rar dm hifr |

(%) fo= df 3 CroERIEEIL ]|
yfafseat i :

i 10 I & 75 WM 1, T2 T 4 9fd 3

1 T T, T8 o wfga) i

Mo TR T YW | i T, g1 R {1 | T 4 Tk 3797 i

1 Tt & 78 oft | 7o fepy Tw atwm
H T 15 gid 379 O Y& gH: i

(i) e femes 9 T 50 Uid 3T % 1,200 AT HI, e TH oI
o fifia fopam T om, T 10 id 3791 <A1 IAfaH AT=AT h1 A
T B T, B R TR | T " 900 M I T 45 Ui 7= U

Wﬂqzﬁ‘fﬁlﬁﬁﬁmwl
reran
(@) v feifieg 9 T 100 9 & 30,000 390 i 20% it w fifia

F & folu ofEed mba fopw | fa ot afsr &1 YA = Johr @
EIH’JT:

A W — T 40 (T 10 Hfrm afzad)

A& W T 30 (T 10 Hftem wfzq)

Y| AT W — T 30

o wa ifow J/am W 3y
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Sudhir died on 30t June, 2022. The partnership deed provided for the

following, on the death of a partner :

) Goodwill of the firm was to be valued at 2% years purchase of

average profits of the previous four years which were ¥ 1,80,000.

(ii) Sudhir's share of profit or loss till the date of death was
to be calculated on the basis of sales. Sales for the year
ended 315t March, 2022 amounted to ¥ 4,00,000 and that from
15t April, 2022 to 30th June, 2022 amounted ¥ 1,50,000. The profit
for the year ended 315t March, 2022 was ¥ 1,00,000.

(iii) Interest on capital was to be provided @ 7% p.a.

Prepare Sudh ntors. 4

23. (a) Pass necessary journal entries for the forfeiture and reissue of
shares in the following cases :

) BCG Limited forfeited 75 shares of ¥ 10 each issued at a
premium of ¥ 4 per share for non-payment of allotment
money of ¥ 8 per share (including premium). The first and
final call of ¥ 4 per share was not made. The forfeited
shares were reissued at ¥ 15 per share fully paid.

(i1) Geetika Limited forfeited 1,200 shares of T 50 each issued
at par for non-payment of final call of ¥ 10 per share. Out

of these, 900 shares were reissued at I 45 per share fully
paid-up. 6

OR

(b)  Pushkar Limited invited applications for 30,000 shares of ¥ 100
each at 20% premium. The amount per share was payable as
under :

On application — ¥ 40 (including ¥ 10 premium)
On allotment — ¥ 30 (including ¥ 10 premium)
On first call— T 30

On second and final call — Balance

67/1/1 ~~~ Page 19 P.T.O.
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40,000 31 % T &S WG §Y AT 35,000 I % IATAGHI <l
TR STTee o TG TRIT | WY SATAGH] ol I Tehd L fem T |
ATegT W yTed 3fafh &St 1 THRISH Ao W ¢F TR § o fea
RID I

e, fem 700 319 & fow eTmaed fokan o, areed Ui &1 P &
o HA TET 3R e oh < U9 S 3TN T 0T L o= T |
3ok W1¢ TYH AT HITf 5 a1 oW IreqT | o aft Tfsr yrea &
T3 | fedia wa sifom s =11 9 8 |

gst faifiieg sl q&aei H ITAH TGl o (a0 3TEwdeh  UeHmHeT
gfefsar il |

24, (%) I9 TN IR TH BH H FHCR & qAT 3 : 1 o UM H ATH-FIH I
foumem &t 9 | 819, 2022 i 3T fefd foewor 1 ger o
31 W, 2022 i & a1 JR 1 fearfa feaawon
IGEALS 41,000 GIF TF HIG 60,000
T w= 80,000 ¥ 40,000
e I 12,000 FEw 60,000
S wih 50,000
Ia 79,000 TTeR 38,000
E1 48,000 1,27,000 ¥T : Gicwe SO %
) @ grag™ 4,000 34,000
U+He 16,000
2,60,000 2,60,000
1 a1id, 2022 1 IR A B L wm % foru fre et W aw B e §
4
vasr fea
(1) I AU Yoi qAT 3T HET o BT HHIH & T 4,000 TG
T |
(i) a1 AT T 68,000 foham T |
(iii) EIF T AR R 10% HeIg™ =1 @ |
qHeaTh @A a1 HISIgRi < St @Td I HIfe |
T
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Applications were received for 40,000 shares and pro-rata
allotment was made to the applicants for 35,000 shares, the
remaining applications being refused.

Excess application money was adjusted towards sums due on
allotment.

Yogesh, who applied for 700 shares, failed to pay the allotment
money and his shares were forfeited immediately after allotment.

First call was made thereafter and all the money due on first call
was received. The second and final call was not made.

Pass necessary journal entries for the above transactions in the
books of Pushkar Limited. 6

24. (a) Yuv and Veer were partners in a firm sharing profits and losses in
the ratio of 3 : 1. Their Balance Sheet as on 315t March, 2022 was
as under :

Balance Sheet of Yuv and Veer as at 315t March, 2022

Liabilities Amount  cets Amount

Creditors 41,000 Plant and Machinery 60,000

General Reserve 80,000 Building 40,000

Outstanding Expenses 12,000 Investments 60,000

Capitals : Stock 50,000
Yuv 79,000 Debtors 38,000

Veer 48,000 | 1,27,000 | Less : Provision for

Doubtful Debts 4,000 34,000

Cash 16,000

2,60,000 2,60,000

They decided to admit Yash in the firm on 15t April, 2022 for
% share in profits on the following terms :

(1) Yash will bring in proportionate capital and ¥ 4,000 as his
share of goodwill premium in cash.

(i1) Investments were valued at ¥ 68,000.

(iii) Plant and Machinery was to be depreciated by 10%.

Prepare Revaluation Accounts and Partners’ Capital Accounts. 6

OR
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(@) W, STESHE 91 WY UH B A WEER 9 A1 50 3 : 2 F Igua A
AT T fauo td o | 31 |, 2022 1 31 et faawor

T AT :

31 WTH, 2022 i {ATIT, IS AT AT T Fearta fearon

fafaa Saer 2,20,000 | UHg 1,60,000

= Ty 1,20,000 | eTeR 1,80,000
- T : "I =N

' fou yree™ 20,000 1,60,000

I 6,00,000 Tih 2,00,000

ATHH  5,00,000 EENIEE] 6,00,000

a3 3,00,000 14,00,000 %A 4,00,000

Uoed 1,20,000

ATH-JIH @ 1,00,000

17,40,000 17,40,000

Ih foifer <l Qe Sariea & R e W Heni s
(i) T HETHgd W ®H i A1 B e T 12,00,000 TR

T |

(i)  TISHM qAT T sy § Wi 1 f99TeH 2 : 3 o U |

A |

(iii) ¥ 40,000  Ush JfIRgd AICR hl oGl T TR |

(iv) ¥ 30,000 % CGRI ! GoId 0T o €9 § ffciiad s feam s |

o 0N

(v) I <Rl < TR 1 gEA-aT0T 39k kU WId H KL &= M |

BH ! JEIehi H ITYRH AT o ToTT ATaeaeh UeHmH=n Sfafsat i |

[ Za 2o 2o 4
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(b)

Reyansh, Aayushman and Sabhya were partners in a firm sharing

profits and losses in the ratio of 5 : 3 : 2. Their Balance Sheet as at
315t March, 2022 was as under :

Balance Sheet of Reyansh, Aayushman and Sabhya as at 315t March, 2022

A t A t
Liabilities P2 | Assets i
Sundry Creditors 2,20,000 | Cash 1,60,000
General Reserve 1,20,000 | Debtors 1,80,000
Less : Provision for
Capitals : Doubtful Debts 20,000 1,60,000
Reyansh 6,00,000 Stock 2,00,000
Aayushman 5,00,000 Machinery 6,00,000
Sabhya 3,00,000 14,00,000
Building 4,00,000
Patents 1,20,000
Profit and Loss A/c 1,00,000
17,40,000 17,40,000

67/1/1

Reyansh retired on the above date and it was agreed that :

(i)  Goodwill of the firm on Reyansh’s retirement was valued at

T 12,00,000.

(ii))  Aayushman and Sabhya will share future profits in the ratio
of 2: 3.

(111) An unrecorded creditor of ¥ 40,000 will be taken into
account.

(iv)  Debtors of T 30,000 will be written off as bad debts.

(v)  Amount payable to Reyansh was to be transferred to his

loan amount.

Pass necessary journal entries for the above transactions in the
books of the firm. 6
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25. TG TR AT Toh BH § HAHCR 9 TAT 3 : 29k AT H ATH-FIH o1 fadTe
A A | 31 HME, 2022 i 371 et foawor 9 gepr o

31 HTH, 2022 h1 ATIEIT qAT A=AT9T k1 Teerfar feramor

31 AT, 2022 =l HfIRad |t W B b1 fo=es & M
(i) EE ¥ T 17,000 H FEA §E a4 GIF H b Ged § 10% fh

T T 73 |

LAY 90,000 | =% H Uhsg 20,000
Syt aATfesT <1 O 30,000 | T 24,000
ST T SROT 30,000 | fraw 30,000
T T 45,000 | STeR 20,000
& - o : Gfey won &+
' T g™ 2,000 18,000
arfest 1,00,000 L DF 1,00,000
SRIN 97,000  1,97,000 fasa I=fd @ 2.,00,000
3,92,000 3,92,000

(i) e 7 fiuct oTfey & U1 I YTAH B 1 GTGT TohaAT qAT ¥ieh hl
T 20,000 T & forr |

(iii) ST 9 MY o™ 10% ¥ W o T | 3w fe=n @ T 4,500 61 Ig

T |

(iv) THFERI &1 YT 10% T2 T T fean i |

(v) S 2 T 7,000 9 |

T @Al TR HIT |
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25. Aadish and Shreyansh were partners in a firm sharing profits and losses

in the ratio of 3 : 2. On 315t March, 2022 their Balance Sheet was as

follows :

Balance Sheet of Aadish and Shreyansh as at 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Creditors 90,000 | Cash at Bank 20,000
Mrs. Aadish’s Loan 30,000 | Stock 24,000
Shreyansh’s Loan 30,000 | Investments 30,000
General Reserve 45,000 Debtors 20,000
. Less : Provision for
Capitals :
Doubtful Debts, 2,000 18,000
Aadish 1,00,000 Plant 1,00,000
Shreyansh ~ 97,000  1,97,000 Advertisement Suspense account | 2,00,000
3,92,000 3,92,000

The firm was dissolved on 315t March, 2022 on the following terms :

(1) Debtors realised ¥ 17,000 and plant realised 10% more than the

book value.

(i1)  Aadish promised to pay Mrs. Aadish’s loan and took away stock at
< 20,000.

(iii) Shreyansh took away half of the investments at a discount of 10%.

Remaining investments realised ¥ 4,500.

(iv)  Creditors were paid off at a discount of 10%.
(v)  Expenses of realisation amounted to ¥ 7,000.

Prepare Realisation Account. 6
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26.

27.

67/1/1

Hfeifiagd SFet o fou ot o e @ gt~ sTaeaes Tsamen gifsat
i
(%) WH fafieg 3 T 100 98% & T 10,00,000, 9% RO T 5% Hiftw
X fifia forem Rt sem = 9wl o gveTq 9Hed W R S |
(@) .T8. s 9 T 100 I % T 10,00,000, 10% FOTIHAT ! THIH
W frifia foeam e siiem o) 9wl & 9v=mq 10% Siftem @@ fRan
ST |
(M) FIR. ffee ¥ T 100 I8F & T 10,00,000, 9% FO9HT I 10% T
R fifga fopen e siem oiw 9wl & wwerq 5% Hifm w fen
ST |
T a
fawea - 1
(forfr ferarort st fergeraorD)
() fre=fafea 3§ 8 wF-a1 afe 98 7
(a) T 9 3ANH hl AN = Y9 8 3 + Hehed oATH
(b) TETEH ® AWM hl ANG = JAXUS Wi g T + TIH =]
_ 3AfaH Wi
(¢) TS ¥ 3TN sl AT = SAR(EHH Teieh + ATqH i
(d) TETEH W W sl AN = J=TeH 8 MH - Hehad oTY
S DE)
(ii) gﬂﬁf@lﬁ T ¥ -9 fodim foawon & favawo 1t Suesstur/dadien
() Uhg a8 fqawo
(i) BT foreo
(iii) @Tdi % JIeH
(iv) Tedfa foawo
RBEETR R RCEE Tl L
(a) (@
(b) ()3 (i)
(c) (i)
d @), () AR (iv)
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26. Pass necessary journal entries for the following transactions relating to
the issue of debentures :

Gagan Limited issued ¥ 10,00,000, 9% Debentures of ¥ 100 each
at a premium of 5%, redeemable at par after four years.

KS Limited issued ¥ 10,00,000, 10% Debentures of ¥ 100 each at
par, redeemable at 10% premium after four years.

QR Limited issued ¥ 10,00,000, 9% Debentures of T 100 each at a
discount of 10%, redeemable at a premium of 5% after five years.

(a)

(b)

(c)

27. (@)

(i)

67/1/1

PART B
OPTION -1
(Analysis of Financial Statements)

Which of the following equations is correct :

(a)

(b)

(c)

(d)

Cost of Revenue from Operations = Revenue from
Operations + Gross Profit

Cost of Revenue from Operations = Opening Inventory — Net
Purchases + Direct Expenses Closing Inventory

Cost of Revenue from Operations = Opening Inventory +
Closing Inventory

Cost of Revenue from Operations = Revenue from Operations
- Gross Profit

OR

Which of the following is a tool of Analysis of Financial
Statements :

1)

(ii)
(iii)

(iv)

Cash Flow Statement
Statement of Profit and Loss
Notes to Accounts

Balance Sheet

Choose the correct option :

(a)

(1)

(b) (1) and (i1)

(c) (ii)

(d) (1), (11) and (iv)

N~~~ Page 27 P.T.O.

Previous Pathshala



e

28.

29.

30.

67/1/1

o

ffafed gemn @ “eanfies w9’ 2

(a)
(c)

(1)

(i1)

1o TNEH T T 20,00,000

-] witrratat ¥ 40,00,000

AelepTel 3UR Z 25,00,000

TaTHce 31T 25%

Z 10,00,000 (b) T 14,00,000
% 24,00,000 d ¥ 15,00,000

T forfia Sem grr “yram feman T T’ Thg WATg fHEr S| §9e
fFafafea 4 9 form nfafatyr & s=ia o .

OB EIGERIGIEID]

(b) T mfafafy
(c) Tocfta nfafafer
(d) @l (b) T (c)
Jrqa
T Afed™ g™ g a9 T uta s a1 S 99T
ffafea ° @ foem nfafafe & swaria smom -
(a) o= fafafe
(b) Toxfta wfafatea

(c) TUATAd 1||%||%||%I
d) g (b) TAT (c)

U Ya1E faawr s°1d g0g Hefaigd § 8 -8 Hedl 1 fori fdferer
o J=Iid ST ST

(1)
(i1)

(iii)

(iv)

AT 373 T Ta

TG & YT Uhs

FROTYAT T SMeH
IR ¢ o foeg Yra foram T Uehs

gl faeheq o1 == i

(a)
(b)
(c)
(d)

1)

(1) dAT (ii)

(1) dAT (iii)

(1), (i1) dAT (iv)
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28.

29.

30.

67/1/1

From the following information, the ‘Proprietor’s funds’ are :

(a)
(c)

(1)

(ii)

Current Assets < 20,00,000
Non-Current Assets < 40,00,000

Long Term Borrowings < 25,00,000
Proprietary Ratio 25%

< 10,00,000 (b) < 14,00,000
T 24,00,000 (d) < 15,00,000

‘Dividend paid’ by a financial enterprise will come under which
kind of activity from the following while preparing cash flow
statement : 1
(a)  Operating Activity

(b)  Investing Activity

(c) Financing Activity

(d)  Both (b) and (c)

OR
‘Intere: on inv which type of
activity from the following, while preparing cash flow statement of
a non-financial enterprise : 1

(a)  Investing Activity
(b)  Financing Activity
(c) Operating Activity
(d)  Both (b) and (¢)

Which of the following transactions are shown under financing activities

while preparing cash flow statement :

(1)
(i1)

(iii)

(iv)

Issue of Equity Shares
Cash Received from Debtors
Redemption of Debentures

Cash Paid Against Trade Payables

Choose the correct option :

(a)
(b)
(c)
(d)

(1)

(i) and (ii)

(1) and (iii)

(1), (i1) and (iv)
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31. FHT Tfafem, 2013 1 ST 111, W 136 ITJER FfaRad #al hl o
o feufa foewor # gea sfidenl qen Iusfient (Af *IE B) o oF=avia afihd
ﬁﬁl‘& : 3

(%) THIF qAT HaATS

(@) HIT IR R N YT

(M) efd

32. ‘98 9® ThA @ FoEd AENKE wEerdl % ey gRI HAldsl W
9T AT B | Gehdleh ohl T8 hITWT qT $8h & AT &l Ieai@
ST | 3

o o 0N

THRTRET FT | Hohel AT STTITT e TUMT HITWT - 4

33. @

TheY (Teleh) ATEd TIITT : 6 T

3Fd ThY (Vi) : T 4,00,000

o1 <h! Toshl ATTd W 25% 19 9 <l 178

AASAT

(i) TH T HT AR FIAW 2 : 18 | FRO <d Y Sooh@ HIWY foh
frafeRaa St @ 9 orgaTa sm, wom A gad Wi ufeds g g 4

(a) T 40,000 % ATA I TR

(b) T 2,000 B W T 8,000 h =X <hl fershl
(¢ SHR IS ¥ T 15,000 & Ashe wiftd

(d) T 6,00,000 % THAT M I FHHT
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Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013 : 3

(a) Licenses and Franchise
(b)  Loans Repayable on Demand

(¢) Accrued Income

Tt is a technique which involves regroupning of data bv application of

arithmetical state its two
advantages. 3
(i) Calculate Gross Profit Ratio from the following information : 4
Inventory Turnover Ratio : 6 times
Average Inventory ;T 4,00,000

Goods are sold at a profit of 25% on cost

OR

(ii)) The Current Ratio of a company is 2 : 1. State giving reasons,
which of the following transactions would improve, reduce or not

change the ratio : 4
(a)  Purchased goods on credit ¥ 40,000

(b)  Sale of furniture of ¥ 8,000 at a loss of T 2,000

(c) Cash received from trade receivables T 15,000

(d)  Issued equity shares T 6,00,000

~ Page 31 P.T.O.
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34, Tr=fafen wrufe o + ufer qon SuF R w v v g+ F IW
Ao
2011 # g a1 WA I, Jurent wifen qen fags wifean 3w Afqans
TSl diee AREy T w1 ot o | 39 wm w3 % ygw e T &
3N I|H 3E HH I QU D BT FEH @I | I8 Teh ITANThdT HAqul
SeHTEe U HIETsd W9 1 T fohan f&eh g0 Swammehdtati o fofu s1gaam
eh I GleAT 3TEH 8 T | 2018 H 39 ‘SR St fofiee’ ot # witafda
L T |
31 9=, 2022 i ol & fAefafga feafa foemo @ ‘Smrem afafafimn @ dwe
JaTg <kl TUMET hIfST |
31 W, 2022 &t &R 3ot fefues =1 feafa feawo
P— =ﬁ2 31.3.2022 31.3.2021
9. 3 3
I—m@rw
AU Y
(%) 3w g 9,00,000 3,00,000
(@) 1 75,000 3,60,000
2. TR ¢Fan
eehlcl| IUT 2 2,40,000 1,80,000
3. < ¢Fan
(%) oAYR 18,000 60,000
(@) TR Y™ 3 2,04,000 2,10,000
K3 14,37,000 11,10,000
II — ufErgfT
1. IR aResREt
o} it 4 10,08,000 5,76,000
2. =Tl gt
(%) ik 3,54,000 3,87,000
(@) e w@ Vs T 75,000 1,47,000
HA 14,317,000 11,10,000
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34.

67/1/1

Read the following hypothetical text and answer the given questions on

the basis of the same.

In 2011, two young Indian entrepreneurs, Vaishali Bhatia and Vivek
Bhatia decided to start an online auto portal. At that time, there were no
major players in the market and they saw an opportunity to fill the gap.
They used a user-friendly website and mobile app which made it easy for
users to research and buy cars. It was converted into a company ‘Car

Easy Ltd.” in 2018.

From the following Balance Sheet of the company as on 315t March, 2022,
calculate ‘Cash Flows From Operating Activities’.

Balance Sheet of ‘Car Easy Ltd’ as at 315t March, 2022

Particulars Note 31.3.2022 | 31.3.2021
No. T T
I- Equity and Liabilities :
1. Shar
(a) Share Capital 9,00,000 3,00,000
(b) Reserves and Surplus 1 75,000 3,60,000
2. Non-Current Liabilities
Long-term Borrowings 2 2,40,000 1,80,000
3. Current Liabilities
(a) Trade Payables 18,000 60,000
(b) Short-term Provisions 3 2,04,000 2,10,000
Total 14,37,000 | 11,10,000
II - Assets:
1. Non-Current Assets
Fixed Assets 4 10,08,000 5,76,000
2. Current Assets
(a) Inventories 3,54,000 3,87,000
(b) Cash and Cash
Equivalents 75,000 1,47,000
Total 14,37,000 | 11,10,000
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27.

67/1/1

Notes to Accounts :

Note

Additional Information :

(1)
(i1)

(1)

PART B
OPTION -1I

10% Debentures were issued on 315t March, 2021.
Tax of ¥ 80,000 was paid during the year.

(Computerised Accounting)

The need of codification is for :
(a)
(b)  To secure accounts, reports, etc.
(c) The encryption of data.

(d)

OR
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The generation of mnemonic codes.

Easy to process data, keeping proper records.

. 31.3.2022 | 31.3.2021
No. Particulars - -
1 Reserve and Surplus
Surplus i.e. Balance in Statement of
Profit and Loss 75,000 3,60,000
75,000 3,60,000
2 Long-term Borrowings
10% Debentures 2,40,000 1,80,000
2,40,000 1,80,000
3 Short-term Provisions
Provision for Tax 2,04,000 2,10,000
2,04,000 2,10,000
4 Fixed Assets
Machinery 11,52,000 6,45,000
Accumulated Depreciation (1,44,000) (69,000)
Total 10,08,000 5,76,000
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28.

29.

30.

67/1/1

(i1)

Which of the following software packages is suitable for an
organisation where the volume of accounting transactions is very
small and adaptability is very high : 1

(a)  Specific
(b)  Tailored
(c) Specific and tailored both
(d)  Generic

The outcome of an arithmetic expression or function is called : 1

(a)
(b)
(c)
(d)

Derived Value
Basic Value
Vertical Value

Horizontal Value

When the accumulated data from various sources is processed in one
shot, it is called : 1

(a)
(b)
(c)
(d)

(1)

(i1)

Real-time processing
Batch processing
Data validation

Processing and Revalidation

The name of accounting information sub-system which is linked
with other sub-systems for obtaining information about cost and
expenses is : 1

(a) Cash and Bank sub-system
(b)  Expense Accounting sub-system
(c) Costing sub-system

(d)  Final Accounts sub-system

OR

The process of comparing input data with some unknown data is
called : 1

(a)  Data validation
(b)  Data entry

(c) Information data
(d)  Storage data
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33.

34.
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31. Which error occurs when Excel does not recognise ‘text’ in the formula ?
State the steps to correct it. 3

32. Explain the terms ‘Memo Voucher’, ‘Post-dated Voucher’ and ‘User-defined
Voucher'. 3

33. (a) What is ‘data formatting’ ? What tools are used to format a given

data ? Explain. 4
OR
(b)  List eight uses of accounting software. 4
34. What is me: ? Explain the
financial function which helps in its calculation. 6
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